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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 3.17 40.56| =#kst [0.00 ~ 3.17| 2.30 12.30 s 1.00f 500 ~ 5.10 40.56| =nkst | 500 ~ 5.10f 2.30 12.30
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{0.00 ~ 1.73 24.93| FhLlst |0.00 ~ 1.73] 2.89 15.45 s 1.00f 500 ~ 7.26 2493 #hLlst | 5.00 ~ 7.26 2.89 15.45
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
s 1.00{0.00 ~ 5.15 64.22| =h L4t 1000 ~ 515 2.13 11.37 s 1.00f 500 ~ 7.22 64.22 =hl4+ | 5.00 ~ 7.22| 213 11.37
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 522 65.06| ZnLlst |0.00 ~ 522| 1.59 8.51 s 1.00f 500 ~ 594 65.06) ZhLlst | 500 ~ 594 1.59 8.51
5 100kN/m##8 %% 1.00{0.00 ~ 0.14 101.98| 3m%x#B2 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 1269 ~ 13.26 101.98| 3m%x#B 25 =l ~ - - =
s 1.00{0.14 ~ 7.92 100.00f Zhkist |0.00 ~ 7.92|] 1.93 10.33 s 1.00f 500 ~ 12.69 100.00f Z=hl4t+ | 5.00 ~ 13.26] 1.93 10.33
6 100kN/m##8 %% 1.00{0.00 ~ 1.73 126.59| 3m%*x#B25% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 11.26 ~ 19.72 126.59| 3m%x#B 25 =l ~ - - =
s 1.00{1.73 ~ 952 100.00f Z=hkl4t |0.00 ~ 9.52| 2.19 11.74 s 1.00f 500 ~ 11.26 100.00f Zhl4t | 5.00 ~ 19.72| 2.19 11.74
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 3.94 49.39| =nLst |0.00 ~ 394| 2.26 12.11 st 1.00f 500 ~ 6.17 49.39] =nkist | 500 ~ 6.17| 2.26 12.11
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR



